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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. The question paper is divided into two sections.

3. Attempt five questions in all, selecting three from

Section A and two from Section B,

A simple calculator can be used,

ppswers may be written eitherin English or Hindi;

but the same medium should be used throughout the
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1. (a) Derive the pareto efficiency conditions in an
(8)

ceonomy with production.
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dorive the ¢opaet curve using the
orth box. Are the worner points of the

orth box patt of the contract curve? Explain.

(7)
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(2) Identify the market failure or need for government

intervention in the below mentioned cases. Explain

your answer.
(1) Railways

(ii) Minimum Support Prices (6)
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(b) HoW can command and control measyreg used
: . , ec
1o control pollution? Discuss its advantages and

Jisadvantages. ()
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Explain in detail the Pareto optimal conditions in the
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provision of private goods and public goods in general

equilibrium framework. (15)
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4 (2) Show the effect of tax on wage income using

demand ang supply curves of labour. (6)
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(®) Explain diagrammatically how Pigouvian subsidy
€an be yseq 1o generate an efficient outcome if

there i a positive externality. (9)
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5. (a) Explain how the burden of a tax is divided between
buyer and seller using the concept of elasticity of

demand and supply. . (10)
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(b) If the supply of land is perfectly inelastic, how is
the burden of the tax on rent of land distributed

between the tenant and the landlord, (5)
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SECTION-B
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6. (a) There1s an economy with the following information

Consumption function is 100+,8y

Investment is 100
Net Taxes are 50

Government spending is 100

Answer the following questions:

() Calculate the equilibrium income.

W) If the government, increases government
SPending by 20 and increases taxes also by

. , L
20. Will the equilibrium income changes

12)
Explain, iy | (12
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) What is the difference between Revenue defiojt

(b
| deficit,
(3)

and Effective Revenue
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es of the budgetary process in

India. AlS© explain

d rcviewed after implementation, (15)
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8. Write short notes on the following:
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(1) The objectives and shortcomings of General an

re to the
Specific purpose transfers from Cent

states.
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(i) 15th Finance Commission reco

d b dies- both rural
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is I'sement of grants to local
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